
-
NFA
-
-

-
-

-

-

-
/

S



al
.

S + salsb a

ab

Q2 .

a D
IA

O ⑭ ⑭start>9-

A b

->9 , 19270

921927(92 . 93)

* 93 d O



Q 3 .
DFA :

a

Da
b Ab

stat->⑬[-

g
a

a . b

a b

-> 91 Es 94

92 92 93

* 93 92 93

94 94 94



Q4
·

(3= (alalbib/nz0] ,

thus L is regular

language. (4 = (amblm = 1) is a
subset of Ly.

suppose 24
is regular language ,

then there will

xy
=
zt(4 ,

-ze[0 . 1 ,
2 , .]

be w = a VbV = xyz , & | xy | = N

14130

let y = ak (ock = n)

=> xyoz = an
-kp-kL4 thus 24 is not

regular language , though 2421 .



Q5 : suppose 15 is context
-free language that

there will be w = a bcV= urwxyz

(vwx| = v

& (vx) > 0

uriwxiy E25 , V2z0

at

=> VWX = & b (OckN)
ch
atbk

-+

b
+(k

-t

it can be easily drawn from 5 conditions

above that Urixz15 ,

thus 15

is not context - free language .


